

$$\frac{r \log_n^a + \log_n^r}{\log_n^a + \log_n^r} = \frac{ra+1}{a+1} = 1 + \frac{a}{a+1} \xrightarrow{a>0} 1 < \frac{a}{a+1} < r$$

$$[b] = 1 \quad \checkmark$$

(۲)

۱

$$q = \sqrt{\frac{n}{\log_{\frac{1}{r}} n}} \quad n > 0 \quad (\log n)$$

$$n \neq 1 \quad (\log_{\frac{1}{r}} n \neq 0)$$

$$\frac{n}{\log_{\frac{1}{r}} n} \geq 0 \xrightarrow{n > 0} \log_{\frac{1}{r}} n > 0$$

$$n < 1$$

$$q = \frac{\log_{\frac{1}{r}} (n^r - n - r)}{\sqrt{n^r - 1} + 1} \quad n^r - 1 \geq 0 \quad n \geq 1 \quad n \leq -1$$

$$n^r - n - r > 0 \quad (n - r)(n + 1) > 0$$

$$n > r \quad n < -1$$

$$D_f = (-\infty, -1) \cup (r, +\infty) \quad \checkmark$$

$$D_f = (0, 1) \quad \checkmark$$

(۲)

۲

$$r \log_{\frac{r}{r}}^a + \log_{\frac{r}{r}}^r = r$$

$$\Rightarrow \log_{\frac{r}{r}}^a + \log_{\frac{r}{r}}^r = r$$

$$t \quad \frac{1}{t}$$

$$t + \frac{1}{t} - r = 0 \xrightarrow{atr} t = 1$$

$$\log_{\frac{r}{r}}^a = 1 \quad \boxed{a = r} \quad \checkmark$$

(۲)

۳

$$(\log_{\frac{r}{r}}^{\frac{r}{r}} - \log_{\frac{r}{r}}^{\frac{r}{r}})n^r + r \log_{\frac{r}{r}}^r n - \log_{\frac{r}{r}}^{\frac{r}{r}} - \log_{\frac{r}{r}}^r = 0$$

$$-1/r n^r + 0/1 n - 1/1$$

$$\log_{\frac{r}{r}}^{\frac{r}{r}} = 1 - \log_{\frac{r}{r}}^r = 0,7$$

(۲)

۴

$$r n^r + 1 n - 11 = 0$$

$$\Delta n = \frac{\sqrt{144}}{r} = \left(\frac{12}{r}\right) \quad \checkmark$$

$$\frac{\log_{\frac{r}{r}} 10}{\log_{\frac{r}{r}} 15} = \frac{\log_{\frac{r}{r}} 2 + \log_{\frac{r}{r}} 5}{\log_{\frac{r}{r}} 3 + \log_{\frac{r}{r}} 5} \Rightarrow \frac{r \log_{\frac{r}{r}} 2}{r \log_{\frac{r}{r}} 3} = \left(\frac{18}{19}\right) \quad \checkmark$$

(۲)

۵

$$\frac{\log_{\frac{r}{r}} v}{\log_{\frac{r}{r}} v} = r, 1 \rightarrow \log_{\frac{r}{r}} v = r, 1 \log_{\frac{r}{r}} r$$

$$\frac{\log_{\frac{r}{r}} r}{\log_{\frac{r}{r}} \delta} = 0, 2 \quad \log_{\frac{r}{r}} \delta = r \log_{\frac{r}{r}} r$$

$$\frac{l \cdot g r}{l \cdot g 10} = \frac{l \cdot g r + l \cdot g r}{l \cdot g c + l \cdot g 8} = \frac{\frac{14}{\lambda} l \cdot g r}{\frac{14}{\lambda} l \cdot g r} = 0,48 \quad \checkmark$$

$$\frac{l \cdot g d}{l \cdot g r} = 10 \rightarrow l \cdot g d = 10 l \cdot g r$$

$$\frac{l \cdot g r}{l \cdot g r} = 14 \rightarrow l \cdot g r = \frac{10}{14} l \cdot g r$$

(2)

6

$$l \cdot g \frac{1}{\lambda} \rightarrow \frac{1}{\lambda} l \cdot g r + \frac{1}{r} l \cdot g r = \frac{r}{r} l \cdot g r + \frac{1}{r} = m \Rightarrow l \cdot g r = \frac{r(m-1)}{r}$$

$$l \cdot g \frac{1}{\epsilon} \rightarrow \frac{1}{\epsilon} l \cdot g r + \frac{1}{r} l \cdot g r = 1 + \frac{r(m-1)}{\epsilon} = \frac{r(m+1)}{\epsilon} \quad \checkmark$$

(2)

7

$$(0, \epsilon)^{r(m-1)} = \left(\frac{r}{\delta}\right)^{-r(m-1)} \rightarrow -r(m-1) = r(m-1) \Rightarrow r(m-1) + r(m-1) = 0$$

log تعریف نمی شود
 $m \rightarrow -1 \times \rightarrow \frac{1}{r} \checkmark$

$$l \cdot g \frac{1}{\lambda} = l \cdot g \frac{r}{r} = \left(\frac{r}{r}\right) \quad \checkmark$$

(2)

8

$$\frac{1}{r} l \cdot g b = \frac{r}{r} (1+a) \Rightarrow l \cdot g b = r + ra$$

$$l \cdot g r \text{ sa} \rightarrow r^a = r$$

$$\rightarrow r^{r+ra} = b \quad r^r \times (r^a)^r = b$$

$$e \times 4 = b \Rightarrow b = 4e$$

$$l \cdot g \frac{(r \times e^4) - 1}{1} = l \cdot g \frac{1}{1} = (r) \quad \checkmark$$

(2)

9

$$\frac{1}{a+b} = \frac{+ca}{b} = l \cdot g c = r l \cdot g r \Rightarrow \frac{b}{a} = \frac{r}{l \cdot g r}$$

$$b+c=ra \rightarrow c=ra-b \Rightarrow \frac{c}{a} = \frac{ra-b}{a} = r \left(\frac{b}{a}\right) \quad (1,2)$$

$$\left(\frac{1}{\sqrt{r}}\right)^{\frac{r}{a}} = r^{-\frac{1}{\lambda} \left(\frac{r}{a}\right)} \rightarrow -\frac{1}{\lambda} \left(r - \frac{r}{l \cdot g r}\right) = -\frac{1}{\epsilon} + \frac{1}{\epsilon l \cdot g r} = \frac{1 - l \cdot g r}{\epsilon l \cdot g r}$$

$$\left(\frac{1 - l \cdot g r}{\epsilon l \cdot g r}\right)$$

جواب درست
 و این پایه عددی درست

$$\frac{r}{l \cdot g r}$$

10

$$a = \frac{b+c}{r} \rightarrow b = ra - c$$

-10

$$\frac{1}{n_1 + n_2} = \frac{1}{S} = \frac{ra}{b} = \frac{ra}{ra-c} = \lg r = \cancel{r} \lg r \rightarrow \frac{ra}{ra-c} = \lg r$$

$$\underline{\text{نوعه 1}}, \quad \frac{ra-c}{ra} = \lg_r^{1.0} \rightarrow 1 - \lg_r^{1.0} = \frac{c}{ra} \rightarrow r - \lg_r^{1.0} = \frac{c}{a}$$

$$\left(r^{-\frac{1}{n}}\right)^{\frac{c}{a}} = \left(r^{\frac{c}{a}}\right)^{\frac{1}{n}} = \left(r^{r - \lg_r^{1.0}}\right)^{\frac{1}{n}} = \left(\frac{r}{1.0}\right)^{\frac{1}{n}}, \quad \omega^{\frac{1}{r}} = \boxed{\sqrt[r]{\omega}}$$